Algebra 1 Notes...
Date:

tEF Factor Quadratic Equations When the Leading Coefficient “a=1”

VOCABULARY:
2 =
e Standard Form of a Quadratic Equation A X * B X+C =0

Where Q . ‘D: C ore Cecl numbers ; and H :}: O

e Factoring a quadratic trinomials when a=1 into a product of 2 binomial factors

Algebra: X“+bx+c=(x + # )(x + #)

When A=1, the question to ask yourself ... What 2 numbers add to “b” and their product is “c”*?

Example: x*+5x+6=( x+2 )( x+3 ) because2+3=5and 2+3=6.

o Note: order of factors does not matter (x+2) (x+3) <& (x+3) (x+2) are both equal.

DENIEN] Factor when b and c¢ are positive
Steps to Factor : ft 10x + 16 = _’7){ -+ 4 Ax+§ m o0& [ (X‘rS') (x+2)
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1) Identifya,b,andc. a=_| b= 10 ande= lb
2) Write 2 sets of ()’s. One for each factor.
3) The first term in both factors is “x”. Why? X . X = X " — "]th} 'S ‘Hu: f STT&Q M
4) What must the signs have to be for each factor? both s 16aS ore T b/g - b¥C avre
5) What are the factors of 16? Put them under the 16. 'r°5‘“;"’ ¢
6) Find the 2 factors b c

yo A + ¥ =1© AND A o & =16
MC"‘ }‘E{ o £ 2 L P
7) ECK by Multiplying the factors ( y+2) (x+¢) = XTax& X+ = X = [OX 16 v

o1z 1o @ {0]I\lI§ Factor and Check by mentally multiplying
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Factor when b is negatwrgﬂtj_Lmﬂtw
Steps to Factor: X -5x+6=_|(X ~ A )(Xlx) oc X (X-3)(x "2>

a’b

1) Identify a,b,andc. a= \ b= -5
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Find the 2 factors = A s~ B

CHECK by Multiplying the factors

al=ed QelIi Factor and Check by mentally multiplying

What must the signs have to be for each factor? Poth Ne 3 chue b/ C
What are the factors of 67 Put them under the 6.

N el i fl

-B sing 3 C
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AR Factor when c is negative
Steps to Factor: x*+3x-10= J(X + 5 WX -2 )J
O | —
G5 O& | (x-2) (x+5) |
}) Identifya,b,andc. a= ' b= 2) ande=__ — 1O
2) What must the signs have to be for each factor? _ QPPos i TE SIGNS (‘f". . 3 L’/C Cis
3 ) What are the factors of 10? Put them under the 10. N ea chue

4 ) Find the 2 factors ~
5 ) CHECK by Multiplying the factors

&1x150 Q=e) I\ Factor and Check by mentally multiplying
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Algebra 1 Notes...

LY Solve Quadratic Equations by Factor

Date:

m Steps to Solve Quadratic Equations by Factor:

(3=

§1-55=15
1x =18/

Y +\t =\F
V5= 16/

a‘ Q"Q)‘L‘i"? [-C\\ =% c: 2‘2-\-7(‘1.\ =\%

’

X+ Tx = 10 1) Putin standard form
T E\'?\ Ax2aBxxC=0
A= FIR =it s O
S
3l + 2) Factor
(X +a)X-2 ) =0 ¢
X+9=0 X-2=0
-9 -9 +2 +2_
_— - X;Z

3) Set each factor to “0” and solve

Norce : there cre

pa | SolJ‘Knd}

4) Check(e;a;)soiution in the
original equation




2) x2+x=

(ISR Solve by Factoring and Check
(=3

gt =X B S
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4) x2+12x=—§
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5) x2+3x+10=13'0
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x:o X+3=0
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6) x2—80=2
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(CHALLENGE PROBLEM ®) Whet

ate % e ¢

a=] BR=0 C=-l00

X Sowllhek are SRS of
Factoes !

(x + )(x-~ ) =0

(x+v0) (x-1e) =©

X410 =0 et
(x=-1)

(> 100—%0 = 2O 6~ |OO — %O T O

0 = 20V 20 =20/



